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THM 243 Rooms Division Management

Midterm Exam Answer Sheet
1. Contrast “Compressed work schedule” to “Job sharing”? (2 Points)

While compressed work schedule entitles that an employee shall work 40 hours in less than 5 days (ex. work 10 hours in only 4 days), job sharing is a scheduling technique where 2 or more part-timers work for the duties of a full time employee.

2. How can department managers design meaningful goals and strategies? How this contributes to guest satisfaction? (2 Points)

 In hotels, managers shall design goals and strategies bearing in mind the hotel's mission statement and overall goals and objectives (i.e. make sure that goals match and go hand in hand with the mission statement and that strategies and tactics match the eventual goals). This way goals and strategies can be described as meaningful.

When guests chose a hotel, they have expectations from the accommodation place which is shapened by a lot of variables including the spelled out mission statement of the hotel. Therefore, guests would find exactly what they expected as hotels strive to offer products / services (part of the strategies / tactics) that contribute to the overall goals, and hence mission statement. When guest’s expectation are met with hotel’s offerings, this certainly contributes to guest satisfaction.
3. Why shall hotel watch out for the Net Outstanding Balance of the guest? What risk is faced by the hotel if they don’t watch out for this very balance? (2 Points)

Hotels shall watch out for the Net Outstanding Balance so that this very balance won’t exceed the limit established for the guest (usually determined as the floor limit). If not, hotels face the risk that a departing guest might not be able to pay for the charges. This would mean unnecessary burden to run after a departing guest for the eventual collection of the amount owed.
4. What are the 2 vital equipment needed for the operation of the Accounts Receivable (A/R) Clerk? (1 Point)

The two vital equipment needed for the operation of an A / R Clerk are voucher racks and folio tray / bucket.
5. What are the advantages that hotels, operating under fully automated system, enjoy at departure stage of the guest cycle? (3 Points)
Some of the advantages that hotels, operating under the fully automated system, enjoy at departure stage of the guest cycle are:

· Automatically produce bills.
· Customize bills to guest needs.
·  Automatically settle guest accounts.
· Automatically transfer room status to housekeeping department.
· Automatically generate guest history files.
6. Ba Holiday Village agrees to allot Demba Tour Operator 13 Single, 17 Double & 5 Triple rooms for the period running from 03/04/2015 (Friday) till 31/07/2015 (Friday) for each Monday & Wednesday arrivals for 3 nights. According to the allotment contract signed between both parties, Demba Tour Operator has to send its final list latest 4 days before actual arrival of any group.
a) When is the first group estimated to arrive to Ba Holiday Village? (1 Point)

The first group is estimated to arrive on Monday 06/04/2015.
b) When is the cut-off date of the first group? (1 Point)

The cut-off date of the first group is Thursday 02/04/2015. 
c) Suppose, by the cut-off date of the first group, Demba Tour Operator communicated a Final List showing a need for 8 Single, 14 Double & 1 Triple rooms. How many rooms are washed out? (1 Point) Calculate the Wash Out Factor Percentage. (Round your answer to the nearest cent) (1 Point)
· Initial allotment = 13 + 17 + 5 = 35 rooms.
· Number of rooms requested (Final List) = 8 + 14 + 1 = 23 rooms.

· Washed out rooms = 35 – 23 = 12 rooms.

· Wash out factor = (12 / 35) * 100 = 34.29 %.
7. While renewing allotment contracts, how hotels might solve the conflict of interest concerning number of rooms to be allotted to the tour operator (i.e. recall that hotel prefer to allot less rooms to more tour operators while those very operators would like more rooms allotted)? Support your argument with an illustration? (3 Points)

While renewing allotment contracts, hotels have to consider the historical average wash out factor of the tour operator while deciding on the new amount of rooms to be allotted. For example, let’s say that ABC tour operator had an allotment of 30 rooms, yet, on an average, did not manage to fill 10 % of its quota. While renewing the allotment contract hotel shall insist on offering ABC tour operator only 27 rooms (i.e. 30 – 30 * 10%). 

8. What information on the registration record determine the POS status of the guest? Why this very information is important for different Points of Sales of the hotel (2 Points)

“Method of Payment” on the registration record determines the POS status of the guest. To illustrate, if the method of payment is “Cash In Advance”, said guest will have no POS status (i.e. Paid In Advance guest). Otherwise, guest will end up having a POS status. This information is vital for revenue centers (i.e. points of sale) in the hotel since cashiers / waiters have to collect payment immediately post to any consumption of PIA guests. Yet, for guests with guest charge privilege (i.e. guests with POS status), they could be asked to choose whether to pay or postpone payment (by signing a charge voucher to be posted to their folios).

9. Contrast “Adjacent” versus “Adjoining” rooms in a hotel?  (2 Points)

While adjacent rooms refer to rooms close to each other, perhaps across the hall, adjoining rooms describe rooms with a common wall but no connecting door.
10. At Töre Hotel, Gökhan has accumulated, just before checkout, the following details in his guest folio:
- Room Charges


$ 4,750.55
- Food Charges


$ 3,785.02
- Beverage Charges


$ 788.32
- Telephone Charges


$ 214.14
- Extra Charges


$ 33.54
- Payment (During Stay)

$ 2,500.00
- Guaranteed Reservation Payment 
$ 750.00
Suppose that Gökhan decided to settle his guest folio, 55 % by cash, 30 % by personal check and the remaining by Special Program.
a) What is Töre’s Net Outstanding Balance? (2 Points)

Net Outstabding Balance = Total Charges – Total Payments = (4,750.55 + 3,785.02 + 788.32 + 214.14 + 33.54) – (2,500 + 750) = 9,571.57 – 3,250 = $ 6,321.57.
b) Journalize the zeroing of the guest folio. (2 Points)

     





     Dr

       Cr.

-------------------------------------------------------------------------------------------------------------


Cash




$ 3,476.86

Personal Check Payment Account
$ 1,896.47

Special Program Payment Account
$ 948.24





Guest Account

$ 6,321.57
-------------------------------------------------------------------------------------------------------------
c) What are the supporting documents needed as to close properly Töre’s folio? (2 Points)

· Cash Voucher with an amount of $ 3,476.86.
· Personal Check Voucher with an amount of $ 1,896.47.
· Special Program Voucher with an amount of $ 948.24.
· An invoice with an amount of $ 6,321.57.
11. Vodazone Hotel consists of 316 rooms. Mr. Ibe has been newly hired for the position of an Assistant Reservation Manager. He is supposed to calculate how many rooms Vodazone Hotel needed to overbook for the night of April 11th 2015. 

Mr. Ibe was given the following information at hand, both updated and concerning the night of April 11th, 2015: 
· Number of rooms reserved: 


240 rooms

· Number of rooms occupied by stayovers:
38 rooms

· Forecasted No-show Percentage:

3.40 %

· Forecasted Understay Percentage:
 
6.80 %

· Forecasted Overstay Percentage:
 
1.20 %

· Forecasted Cancellation Percentage: 

4.50 %

· Expected Out Of Order Rooms:

2 rooms
Suppose you are the Rooms Division Manager in Vodazone Hotel. Since Mr. Ibe is newly hired, he knocked your door and wanted your assistance. Could you help Mr. Ibe to come up with:
a) The maximum number of rooms (including overbooked rooms) that can be reserved for that very night? (3 Points)

· Total number of rooms expected to be occupied for the night of April 11th, 2015 = 240 + 38 = 278 Rooms
· Adjustment due to no-shows  = - 3.40 % * 240 = - 8.16 Rooms
· Adjustment due to understays  = - 6.80 % * 38 = - 2.584 Rooms
· Adjustment due to overstays  = 1.20 % * 38 = + 0.456 Rooms
· Adjustment due to cancellation  = - 4.50 % * 240 = - 10.80 Rooms
· Total adjustment = - 8.16 – 2.584 + 0.456 – 10.80 = - 21.088 Rooms
· Total number of rooms expected to be occupied for the night of April 11th, 2015 (after adjustment) = 278 – 21.088 = 256.912 Rooms
· Total number of rooms available for sale for the night of April 11th, 2015 = 316 - 2 = 314 Rooms
· Maximum number of rooms to be additionally reserved for the night of April 11th, 2015 = 314 – 256.912 = 57.088 Rooms
· Total number of rooms expected to be reserved and occupied for the night of April 11th, 2015 = 278 + 57.088 = 335.088 Rooms ≈ 335.09 Rooms.
b) The number of overbooked rooms? (1 Point)

· Total Number of overbooked rooms = 278 + 57.09 – 314 ≈ 21.09 Rooms.
c) The overbooking factor? (2 Points)

· Forecasted Occupancy Percentage = 335.09 / (316 – 2) * 100 = 106.72 %
· Overbooking Factor = 106.72 % - 100 % = 6.72 %.

N.B: Answers to a), b) & c) parts shall be rounded to the nearest cent.

GOOD LUCK!
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